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1. Two students appeared at an examination one of them secured 9 marks more 
than the other and his marks was 56% of the sum of their marks. What are the 
marks obtained by other student?  
a. 33   b. 35    c. 44        d. 40 
,uz;L khzth;fs; xU Njh;it vOjpdhh;fs;.  mth;fspy; xU khzth; 
mLj;j khztiu tpl 9 kjpg;ngz;fs; $Ljyhfg; ngWfpwhh;.  mtuJ 
kjpg;ngz; mth;fspd; nkhj;j kjpg;ngz;zpy; 56 rjtPjk; MFk;. kw;nwhU 
khzth; ngw;w kjpg;ngz;fs; vd;d? 
a. 33   b. 35    c. 44        d. 40 

 Explanation: 

 Let their marks be (x+9) and x. 
 Then, x+9 = 56/100(x + 9 +x) 
 => 25(x+9) 
 => 14 (2x + 9) 
 => 3x = 99 
 => x = 33. 
 So, their marks are 42 and 33 

 
2. Vinoth purchased a house for ` 27,50,000. He spent ` 2,50,000 on repairs and 

painting. If he sells the house for ` 33,00,000 what is his profit or loss % ? 
a. 5%  b. 12%   c. 8%       d.  10% 
xU tPl;il tpNehj; `27>50>000-f;F thq;Ffpwhh;. mth; tPl;il rPh; nra;tjw;fhf 
`2>50>000Ir; nrytpLfpwhh;. me;j tPl;il `33>00>000f;F tpw;fpwhh;. vdpy;> ,yhg 
my;yJ el;l rjtPjj;ijf; fz;Lg;gpbf;fTk;.  
a. 5%  b. 12%   c. 8%       d.  10% 

 Explanation: 

 Total Cost Price = 27,50,000 + 2,50,000 = 30 Lakhs 
 Selling Price = 33 Lakhs. 
 Hence, Profit = 3 Lakhs 
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 Profit% = 
3

100 10%
30

   

 

3. What percent of 
2

7
is 

1
?

35
 

a. 2.5%  b. 5%   c. 10%  d. 25% 
1

35
vd;gJ 

2

7
y; vj;jid rjtpfpjk;? 

a. 2.5%  b. 5%   c. 10%  d. 25% 

 Explanation: 

 

1/ 35
100

2 / 7

7
100 10%

35 2




  

 

 
4. A and B together can do a piece of work in 8 days, but A alone can do it 12 

days.  How many days would B alone take to do the same work? 
xU Ntiyia A> B ,UtUk; Nrh;e;J 8 ehl;fspy; Kbg;gh;. A kl;Lk; 
mt;Ntiyia 12 ehl;fspy; Kbg;ghh;. B kl;Lk; mt;Ntiyia vj;jid 
ehl;fspy; Kbg;ghh;? 
a. 24 days  b. 18 days   c. 12 days  d. 30 days 

 Explanation: 

 

1 1
B alone 

8 12

3 2 1

24 24

 


 

 

  B alone completes the work in 24 days.  

 
5. Two persons A and B are engaged in a work.  A can do a piece of work in 12 

days and B can do the same work in 20 days.  They work together for 3 days 
and then A goes away.  In how many days will B finish the work? 
A xU Ntiyia 12 ehl;fspy; nra;J Kbg;ghh;.  B mNj ntiyia 20 
ehl;fspy; nra;J Kbg;ghh;.  A> B ,UtUk; Nrh;e;J mt;Ntiyia 3 ehl;fs; 
nra;jdh;.  gpd; A nrd;W tpl;lhh;.  kPjp Ntiyia B vj;jid ehl;fspy; 
Kbg;ghh;? 
a. 24 days  b. 18 days   c. 12 days  d. 30 days 
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  B finishes the remaining work = 
3

20 12days
5
   

6. Two taps can fill a tank in 30 minutes and 40 minutes.  Another tap can 
empty it in 24 minutes.  If the tank is empty and all the three taps are kept 
open, in how much time the tank will be filled? 
xU njhl;bia ,U Foha;fs; jdpj;jdpNa KiwNa 30 epkplq;fs;> 40 
epkplq;fspy; epug;Gfpd;wJ.  kw;nwhU Foha; ePh; epuk;gpa njhl;bia 24 
epkplq;fspy; fhyp nra;Ak;.  njhl;b fhypahf ,Ue;J ,k;%d;W Foha;fSk; 
xNu rkaj;jpy; jpwe;J tplg;gl;lhy;> mj;njhl;b vj;jid epkplq;fspy; epuk;Gk;? 
a. ½ hour  b. 1 hour  c.1 ½ hours   d. 2 hours 
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7. Tharun makes a deposit of Rupees two lakhs in a bank for 5 years.  If the rate 
of interest is 8% per annum, find the maturity value. 
a. `1,80,500  b. `2,50,000  c. `2,80,000  d. ` 80,000  
jUz; vd;gth; ,uz;L yl;r &ghia 5 Mz;LfSf;F xU tq;fpapy; epue;ju 
itg;Gj; jpl;lj;jpy; KjyPL nra;fpd;whh;.  mt;tq;fp Mz;nlhd;Wf;F 8% jdp 
tl;b jUfpd;wJ vdpy; 5 Mz;Lfs; Kbtpy; mtUf;Ff; fpilf;Fk; nkhj;jj; 
njhif vt;tsT? 
a. `1,80,500  b. `2,50,000  c. `2,80,000  d. ` 80,000  

Explanation: 

  
 

8. Six men working 10 hours a day can do a piece of work in  
 24 days. In how many days will 9 men working for 8 hours a 
 day do the same work? 
a. 24 days  b. 20 days  c. 16 days   d. 10 days 
6 Mz;fs; xU Ntiyia ehnshd;Wf;F 10 kzp Neuk; Ntiy nra;J 24 
ehl;fspy; Kbg;gh;. 9 Mz;fs;> ehnshd;Wf;F 8 kzp Neuk; Ntiy nra;jhy;> 
vj;jid ehl;fspy; mt;Ntiyia Kbg;gh;? 
a. 24 ehl;fs; b. 20 ehl;fs; c. 16 ehl;fs;  d. 10 ehl;fs; 

Explanation: 
Men, Days, Hours Formula: 1 1 1 2 2 2M D H M D H  

      
2

2

6 24 10 9 8

20 days

d

d

    


 

 
9. If 2,400 sq.m. of land can be tilled by 12 workers in 10 days, how 

 many workers are needed to till 5,400 sq.m. of land in 18 days? 
a. 45   b. 30   c. 15   d. 5 
2400 r.kP. epyj;ij 12 Ntiyahl;fs; 10 ehl;fspy; cOJ Kbg;gh;. 5400 r.kP. 
epyj;ij 18 ehl;fspy; cOtjw;F vj;jid Ntiy Ml;fs; Njit? 
a. 45   b. 30   c. 15   d. 5 

Explanation: 

1 1 2 2 2 1 2

2

M D W =M D W 12 10 5400 M ×18×240

M =15workers

   
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10. The price of a house is decreased from Rupees Fifteen lakhs to 
 Rupees Twelve lakhs. Find the percentage of decrease. 

   a. 20%   b. 10%   c. 30%   d. 22% 
xU tPl;bd; tpiy 15 ,yl;rk; &ghapypUe;J 12 ,yl;rk; &ghahff; Fiwe;jJ 
vdpy; Fiwe;j rjtPjk; fhzTk;. 
a. 20%   b. 10%   c. 30%   d. 22% 

Explanation: 

Percentage Decreased =
Difference

100
Previous Value

  

     
15 12 3

100 100 20%
15 15


     

 
11. Find the total amount if 12% of it is ` 1080. 

a. ` 129.6  b. ` 2160   c. ` 9000  d. ` 6000 
xU njhifapd; 12% vd;gJ ` 1080 vdpy; mj;njhifiaf; fhz;f. 
a. ` 129.6  b. ` 2160   c. ` 9000  d. ` 6000 

 Explanation: 

Total Amount Let be x. 
12 1080

1080 100 9000
100 12

x x       

 
12. The cost price of 16 note books is equal to the selling price of  

 12 note books. Find the gain percent.  
a. 30%   b. 33.33%   c. 25%   d. 20% 
16 Nehl;L Gj;jfq;fspd; mlf;f tpiy> 12 Nehl;L Gj;jfq;fspd; tpw;gid 
tpiyf;F rkk;. ,jd; ,yhg rjtPjj;ijf; fhzTk;. 
a. 30%   b. 33.33%   c. 25%   d. 20% 

 Explanation: 

C.P of 16 Note Books = S.P of 12 Note Books 
CP×16=SP×12

CP 12

SP 16

16 12
% 100

12

4 1
100 33 %

12 3

P




 

  

 

 
13. If the S.P. of an article is Rs. 260 and the discount given on it is 

 Rs. 28, then the M.P. is ______ 
a. Rs. 212  b. Rs. 228  c. Rs. 268  d. 288 
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xU nghUspd; tpw;w tpiy ` 260> js;Sgb ` 28 vdpy;> Fwpj;j tpiy 
________. 
a. Rs. 212  b. Rs. 228  c. Rs. 268  d. 288 

 Explanation: 

Marked Price – Discount = Selling Price  
Marked Price = 260 + 28 = 288 
 

14. Gayathri invested a sum of Rs. 12,000 at 5% p.a. at compound 
 interest. She received an amount of Rs. 13,230 after ‘n’ years. 
 Find the value of ‘n’. 
a. 2 years   b. 3 years  c. 2 ½ years  d. 1 ½ years 
fhaj;hp fhaj;up &.12>000 I 5% Mz;L $l;L tl;b jUk; xU tq;fpapy; ‘n’ 
Mz;LfSf;F KjyPL nra;jhh;. mth; Kbtpy; &. 13>230 ngw;whh;. ‘n’ ,d; 
kjpg;G vd;d? 
a. 2 Mz;Lfs;  b. 3 Mz;Lfs;   
c. 2 ½ Mz;Lfs;  d. 1 ½ Mz;Lfs; 

 Explanation:  

P = 12,000   A = 13,230    C.I = 1230 

First Year C.I: 12000   
5

100
 = 600 

Second Year C.I: 600 + 
5

600
100

  600 30 630    

Two years total C.I = 600 + 630 = 1230 
Hence, N = 2years 

 
15. The population of a village increases by 9% every year which is 

 due to the job opportunities available in that village. If the 
 present population of the village is 11,881, what was the 
 population two years ago? 

 a. 9,900  b. 12,000  c. 10,000  d. 10,500 
Ntiy tha;g;G mjpfKs;sjhy; xU fpuhkj;jpy; cs;s kf;fs; njhif 
Mz;nlhd;Wf;F 9% mjpfhpj;jJ. ,g;NghJ mjd; kf;fs; njhif 11>881 
vdpy; ,uz;lhz;LfSf;F Kd;dh; mjd; kf;fs; njhif vd;dthf 
,Ue;jpUf;Fk;? 

 a. 9,900  b. 12,000  c. 10,000  d. 10,500 

 Explanation:  

 Two years ago population was x. 

 
100 109 109

11881 10,000
100 100 100

N
R

x P x x
 

        
 
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16. A rational number is such that when we multiply it by
5

2
 and 

2

3
 add to the 

product we get
7

12
 .  What is the number? 

xU tpfpjKW vz;iz 
5

2
My; ngUf;fp tUk; ngUf;fw; gyDld; 

2

3
If; 

$l;bdhy; 
7

12
  fpilf;Fk; vdpy; mt;tpfpjKW vz; vJ? 

a. 
1

2
    b. 1   c. -2  d. 

1

2
 

          

  
 

17. An alloy consists of 30% copper and 40% zinc, and the remaining is nickel.  
Find the amount of nickel in 20 kilograms of the alloy. 
a. 6 kgs   b. 8 kgs  c. 10 kgs  d. 12 kgs 
xU cNyhff; fyitapy; 30% jhkpuk;> 40% Jj;jehfk;> kPjp epf;fy; cs;sJ.  
20 fp.fp cs;s ,e;j cNyhff; fyitapy; epf;fypd; msT ahJ? 
a. 6 fp.fp.   b. 8 fp.fp  c. 10 fp.fp  d. 12 fp.fp 

Explanation: 

Nickel = 30% 

Amount of nickel = 
30

20 6kgs
100

   
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18. A worker receives ` 11,250 as bonus, which is 15% of his annual salary.  What 
is his monthly salary? 
a. ` 6,350   b. ` 6,200   c. ` 6,250   d. ` 6,150 
xU njhopyhsp ` 11>250 Cf;fj; njhifahfg; ngWfpd;whh;.  ,j;njhif mth; 
jk; Mz;L tUkhdj;jpy; 15% vdpy;> mthpd; khj tUkhdk; vd;d? 
a. ` 6,350   b. ` 6,200   c. ` 6,250   d. ` 6,150 

Explanation: 

Annual Salary be x. 

15
11250

100

11250 100
75000

15

x

x

 


 

 

Monthly Salary = 
75000

6250
12

  

 
19. A television set was sold for Rs. 5,760 after giving successive discounts of 

10% and 20% respectively. What was the Marked Price? 
a. `8,000  b.` 8500   c. ` 7000   d. ` 7200 
xU njhiyf;fhl;rpg; ngl;b 10%, 20% Mfpa njhlh; js;Sgbfs; nfhLj;j 
gpd; ` 5>760f;F tpw;fg;gLfpd;wJ vdpy; ,jd; Fwpj;j tpiy vd;d? 
a. `8,000  b.` 8500   c. ` 7000   d. ` 7200 

Explanation: 

 Let, Marked Price be x Rs. 

 

100 10 100 20
5760

100 100

90 80
5760

100 100

100 100
5760 8000

90 80

x

x

x

    
     
   

   
     
   

   

 

 
20. At what rate per annum will ` 640 amount to ` 774.40 in 2 years, interest 

being compounded annually? 
a. 10%  b. 12%   c. 8%   d. 14% 
` 640 MdJ ,uz;L Mz;Lfspy; $l;Lj;njhif ` 774.40 MFk;.  $l;L tl;b 
tPjk; fhz;f.  (tl;b Mz;bw;F xU Kiw mrYld; NrUfpd;wJ) 
a. 10%  b. 12%   c. 8%   d. 14% 

Explanation: 
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2

100
640 774.4

100

100 7744

100 6400

100 7744 88 11

100 6400 80 10

100 11

100 10

100 110

10%

R

R

R

R

R

R

 
  
 

 
 

 

 
   

 

 
 

 

 



 

 
21. A train covers a distance of 195 km in 3 hrs.  At the same speed, the distance 

travelled in 5 hours is _______. 
a. 195 km  b. 325 km  c. 390 km  d. 975 km 
xU ,uapy; tz;b 195 fpNyhkPl;lh; J}uj;ij 3 kzp Neuj;jpy; flf;fpd;wJ. 
mNj Ntfj;jpy;> me;j ,uapy; tz;b 5 kzp Neuj;jpy; flf;Fk; J}uk;  
a. 195 fp.kP  b. 325 fp.kP  c. 390 fp.kP  d. 975 fp.kP  

Explanation: 

195
Speed 65kmph

3
   

Distance = Speed   Time 
                = 65   5 = 325 kmph 
 

22. 150 men can finish a piece of work in 12 days. How many days will 120 men 
take to finish the same work? 
a. 12 days  b. 16 days   c. 14 days  d. 15 days 
xU Ntiyia 150 Ml;fs; 12 ehl;fspy; Kbj;JtpLthh;fs;. 120 Ml;fs; mNj 
Ntiyia vj;jid ehl;fspy; Kbg;ghh;fs;? 
a. 12 ehl;fs; b. 16 ehl;fs; c. 14 ehl;fs; d. 15 ehl;fs; 

Explanation: 

M1 d1 = M2  d2 
150 12 = 120 d2  
d2 = 15 days. 

 
 

23. There are 250 students in a school. 55 students like basketball, 75 students 
like football, 63 students like throw ball, while the remaining like cricket, 
what percent of students like basketball? 
a. 32%  b. 42%  c. 12%  d. 22% 
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250 khztu;fs; cs;s xU gs;spapy;> 55 khztu;fs; $ilg; ge;ijAk; 75 
khztu;fs; fhy;ge;ijAk;> 63 khztu;fs; vwpge;ijAk; kPjKs;stu;fs; 
fpupf;nfl;ilAk; tpUk;Gfpd;wdu; vdpy; $ilg;ge;ij tpUk;Gk; khztu;fspd; 
rjtPjk; vd;d? 
a. 32%  b. 42%  c. 12%  d. 22% 

Explanation: 

Percent of students like basketball = 
55

100 22%
250

   

 
24. A shop keeper purchased 100 ball pens for `250.  He sold each pen for `4.  

Find the profit percent. 
a. 40%   b. 50%   c. 60%  d. 58% 
xU filf;fhuh; 100 Ngdhf;fis `250f;F thq;Ffpwhh;. xU Ngdh `4f;F 
tpw;fpwhh;. ,yhg rjtPjj;ijf; fhz;f.  
a. 40%   b. 50%   c. 60%  d. 58% 

Explanation: 

Cost price of 100 Pens = 250 Rs 
Selling Price of 100 Pens = 400 rs.   
Profit = 150 Rs 

Profit % = 
150

100 60%
250

   

 

25. If a plant grows 
3

5
cm in an hour, than its height after 

1
2

2
days is ____. 

a. 
6

10
cm   b. 30 cm  c. 35 cm  d. 36 cm 

xU jhtuk; 1 kzp Neuj;jpy; 
3

5
nr.kP. cauk; tsh;fpwJ vdpy; 

1
2

2
ehl;fSf;F 

gpwF mj;jhtuj;jpd; cauk; _______. 

a. 
6

10
cm   b. 30 cm  c. 35 cm  d. 36 cm 

Explanation: 

 
1

2
2

days = 60 hours 

 Required Value = 
3

60 36cm
5

   


